Instructor's Manual

Mathematics for Economics and Business

Eighth edition

Ian Jacques

For further instructor material please visit: www.pearsoned.co.uk/jacques

ISBN: 978-1-292-07426-9

© Pearson Education Limited 2015

Lecturers adopting the main text are permitted to download and photocopy the manual as required.

PEARSON

Harlow, England • London • New York • Boston • San Francisco • Toronto • Sydney • Auckland • Singapore • Hong Kong Tokyo • Seoul • Taipei • New Delhi • Cape Town • São Paulo • Mexico City • Madrid • Amsterdam • Munich • Paris • Milan

PEARSON EDUCATION LIMITED

Edinburgh Gate Harlow CM20 2JE United Kingdom Tel: +44 (0)1279 623623 Web: www.pearson.com/uk

First published 1992 Fifth edition published in 2006 Sixth edition published in 2009 Seventh edition published in 2013 **This edition published 2015**

© Pearson Education Limited 2015

The right of Ian Jacques to be identified as author of this work has been asserted by him in accordance with the Copyright, Designs and Patents Act 1988.

Pearson Education is not responsible for the content of third-party internet sites.

ISBN 978-1-292-07426-9

All rights reserved. Permission is hereby given for the material in this publication to be reproduced for OHP transparencies and student handouts, without express permission of the Publishers, for educational purposes only. In all other cases, no part of this publication may be reproduced, stored in a retrieval system, or transmitted in any form or by any means, electronic, mechanical, photocopying, recording, or otherwise without either the prior written permission of the Publishers or a licence permitting restricted copying in the United Kingdom issued by the Copyright Licensing Agency Ltd., Saffron House, 6–10 Kirby Street, London EC1N 8TS. This book may not be lent, resold, hired out or otherwise disposed of by way of trade in any form of binding or cover other than that in which is it is published, without the prior consent of the Publishers.

Pearson Education is not responsible for the content of third-party internet sites.

Contents

Solutions to Problems		4
Chapter 1	Linear Equations	4
Chapter 2	Non-linear equations	46
Chapter 3	Mathematics of Finance	82
Chapter 4	Differentiation	101
Chapter 5	Partial Differentiation	141
Chapter 6	Integration	170
Chapter 7	Matrices	179
Chapter 8	Linear Programming	196
Chapter 9	Dynamics	210
Excel		223
Advanced Topics		
Advanced Topic 1	Differentiation from First Principles	257
Advanced Topic 2	Implicit Differentiation	261
Advanced Topic 3	Hessians	264
Advanced Topic 4	Input–Output Analysis	269
Solutions to Advanced To	opics	282

SOLUTIONS TO PROBLEMS

CHAPTER 1

Linear Equations

Section 1.1 Introduction to algebra

Practice Problems

1. (a) –30 **(b)** 2 (c) -5 (d) 5 (e) 36 (f) -1 **2.** (a) -1 (b) -7 (c) 5 (d) 0 (e) -91 (f) -5**3.** (a) 19 (b) 1500 (c) 32 (d) 35 4. (a) x + 9y (b) 2y + 4z(c) not possible (d) $8r^2 + s + rs - 3s^2$ (e) -4f(f) not possible **(g)** 0 5. (a) $5z - 2z^2$ **(b)** 6x - 6y + 3y - 6x = -3y(c) $x - y + z - x^2 - x + y = z - x^2$ 6. (a) 7(d+3) (b) 4(4w-5q)(c) 3(3x - y + 3z) (d) 5Q(1 - 2Q)7. (a) $x^2 - 2x + 3x - 6 = x^2 + x - 6$ **(b)** $x^2 - xy + yx - y^2 = x^2 - y^2$ (c) $x^2 + xy + yx + y^2 = x^2 + 2xy + y^2$

(d)
$$5x^2 - 5xy + 5x + 2yx - 2y^2 + 2y$$

= $5x^2 - 3xy + 5x - 2y^2 + 2y$

8. (a) (x+8)(x-8)(b) (2x+9)(2x-9)

Exercise 1.1 (p. 18)

1.	(a) -20	(b) 3 (c)	-4 (d) 1	
	(e) -12	(f) 5 (g)	-5 (h) 3	
	(i) 30	(j) 4.		
2.	(a) -1	(b) −3	(c) -11	(d) 16
	(e) -1	(f) −13	(g) 11	(h) 0
	(i) -31	(j) -2		
3.	(a) -3	(b) 2	(c) 18	(d) −15
	(e) -41	(f) -3	(g) 18	(h) -6
	(i) –25	(j) −6 _.		
4.	(a) 2 <i>PQ</i>	(b) 8 <i>I</i>	(c) 3 <i>xy</i>	(d) 4qwz
	(e) b^2	(f) $3k^2$		
5.	(a) 19w	(b) 4	x-7y	(c) $9a + 2b - 2c$
	(d) $x^2 + 2$:	x (e) 4	c-3cd	(f) $2st + s^2 + t^2 + 9$.
6.	(a) 10	(b) 18	(c) 2000	
	(d) 96	(e) 70		
7.	(a) 1	(b) 5	(c) -6	(d) –16
	(e) -30	(f) 44.		

- **8.** (a) 16.
 - (b) Presented with the calculation, -4^2 , your calculator uses BIDMAS, so squares first to get 16 and then subtracts from zero to give a final answer, -16. To obtain the correct answer you need to use brackets:

(-	4)	x^2	=

5 © Pearson Education Limited 2015

9.	(a) 9	(b) 21 no.			
10.	(a) 43.96	(b) 1.13	(c) 10.34	(d) 0.17	
	(e) 27.38	(f) 3.72	(g) 62.70	(h) 2.39	
11.	(a) $7x - 7y$	(b) 15 <i>x</i>	x - 6y (c) $4x - 6y$	+12 (d) $21x-7$	
	(e) $3x + 3y$	$+3z$ (f) $3x^2$	-4x (g) y+	-2z - 2x - 6y + 2z = -2x	-5y + 4z
12.	(a) $5(5c+6)$) (b) 9(.	(x-2) (c) $x(x)$	(x+2) (d) $4(4x-3y)$	
	(e) $2x(2x - $	-3y) (f) 5(2	d - 3e + 10)		
13.	(a) $x^2 + 7x - 7x$	+10 (b) a^2	+3a-4	(c) $d^2 - 5d - 24$	
	(d) $6s^2 + 23$	$3s + 21$ (e) $2y^2$	$x^{2} + 5y + 3$	(f) $10t^2 - 11t - 14$	
	(g) $9n^2 - 4$	(h) a^2	$-2ab+b^2$		
14.	(a) $6x + 2y$	(b) 11 <i>;</i>	$x^2 - 3x - 3$	(c) $14xy + 2x$	
	(d) $6xyz + 2$	2 <i>xy</i> (e) 10 <i>a</i>	a-2b	(f) $17x + 22y$	
	(g) 11–3 <i>p</i>	(h) x^2	+10x		
15.	(a) $(x+2)(x+2)(x+2)(x+2)(x+2)(x+2)(x+2)(x+2)$	(x-2) (b) (Q	(Q - 7) + 7)(Q - 7)	(c) $(x+y)(x-y)$	
	(d) $(3x+10)$	(3x-10y)			
16.	(a) $4x^2 + 8x$	$z - 2$ (b) $3x^2$	$x^{2} + 2x - 3x^{2} - 15x^{2}$	x = -13x	
17.	S = 1.2N +	3000 <i>E</i> +1000	(A-21); \$20	04,000	

18. (a) C = 80 + 60L + K (b) C = 10 + 1.25x (c) H = 5a + 10b (d) X = Cd + cm

Section 1.2 Further algebra

Practice Problems

1. (a)
$$\frac{3}{5}$$
 (b) $\frac{4}{5}$ (c) $\frac{1}{2y}$ (d) $\frac{1}{2+3x}$ (e) $\frac{1}{x-4}$
2. (a) $\frac{1}{2} \times \frac{3}{4} = \frac{1 \times 3}{2 \times 4} = \frac{3}{8}$

(b)
$${}^{1} \pi' \times \frac{1}{\mu_{2}} = \frac{1}{2}$$

(c) $\frac{2}{3} + \frac{8}{9} = \frac{1}{\mu_{1}} \frac{2}{\pi} \times \frac{9^{3}}{8_{4}} = \frac{3}{4}$
(d) $\frac{8}{9} \div 16 = \frac{18}{9} \times \frac{1}{\mu_{2}} = \frac{1}{18}$
3. (a) $\frac{3}{7} - \frac{1}{7} = \frac{2}{7}$
(b) $\frac{1}{3} + \frac{2}{5} = \frac{5}{15} + \frac{6}{15} = \frac{11}{15}$
(c) $\frac{7}{18} - \frac{1}{4} = \frac{14}{36} - \frac{9}{36} = \frac{5}{36}$
4. (a) $\frac{5}{x - 1} \times \frac{x - 1}{x + 2} = \frac{5}{x + 2}$
(b) $\frac{x^{2}}{x + 10} \div \frac{x}{x + 1} = \frac{x^{2}}{x + 10} \times \frac{x + 1}{x} = \frac{x(x + 1)}{x + 10}$
(c) $\frac{4}{x + 1} + \frac{1}{x + 1} = \frac{4 + 1}{x + 1} = \frac{5}{x + 1}$
(d) $\frac{2}{x + 1} - \frac{1}{x + 2}$
 $= \frac{2(x + 2)}{(x + 1)(x + 2)} - \frac{(1)(x + 1)}{(x + 1)(x + 2)}$
 $= \frac{(2x + 4) - (x + 1)}{(x + 1)(x + 2)} = \frac{(x + 3)}{(x + 1)(x + 2)}$
5. (a) $4x + 1 = 25$
 $4x = 24$ (subtract 1 from both sides)
 $x = 6$ (divide both sides by 4)
(b) $4x + 5 = 5x - 7$

5 = x - 7	(subtract $4x$ from both sides)		
12 = x	(add 7 to both sides)		

(c)
$$3(3-2x)+2(x-1)=10$$

 $9-6x+2x-2=10$ (multiply out brackets)
 $7-4x=10$ (collect like terms)
 $-4x=3$ (subtract 7 from both sides)
 $x=-\frac{3}{4}$ (divide both sides by -4)

(d)
$$\frac{4}{x-1} = 5$$

$$4 = 5(x-1) \quad (multiply both sides by x-1)$$

$$4 = 5x-5 \quad (multiply out brackets)$$

$$9 = 5x \quad (add 5 to both sides)$$

$$\frac{9}{5} = x \quad (divide both sides by 5)$$

(e)
$$\frac{3}{x} = \frac{5}{x-1}$$

 $3(x-1) = 5x$ (cross-multiplication)
 $3x-3 = 5x$ (multiply out brackets)
 $-3 = 2x$ (subtract 3x from both sides)
 $-\frac{3}{2} = x$ (divide both side by 2)

6. (a)
$$12 > 9$$
 (true) (b) $12 > 6$ (true)

- (c) 3 > 0 (true) (d) same as (c)
- (e) 2 > 1 (true) (f) -24 > -12 (false)
- (g) -6 > -3 (false) (h) -2 > -1 (false)
- (i) -4 > -7 (true).
- 7. (a) 2x < 3x + 7
 - -x < 7 (subtract 3*x* from both sides)
 - x > -7 (divide both sides by -1 changing sense because -1 < 0)

- **(b)** $21x 19 \ge 4x + 15$
 - $17x 19 \ge 15$ (subtract 4x from both sides)
 - $17x \ge 34$ (add 19 to both sides)

 $x \ge 2$ (divide both sides by 17, leaving inequality unchanged because 17 > 0)

Exercise 1.2 (p. 36)

- **1.** (a) $\frac{1}{2}$ (b) $\frac{3}{4}$ (c) $\frac{3}{5}$ (d) $\frac{1}{3}$ (e) $\frac{4}{3} = 1\frac{1}{3}$
- 2. (a) $\frac{35}{100} = \frac{7}{20}$; (b) $\frac{56}{35} = 1\frac{3}{5}$
- 3. (a) $\frac{2x}{3}$ (b) $\frac{1}{2x}$ (c) $\frac{1}{ac}$ (d) $\frac{2}{3xy}$ (e) $\frac{3a}{4b}$.
- 4. (a) $\frac{2p}{2(2q+3r)} = \frac{p}{2q+3r}$ (b) $\frac{x}{x(x-4)} = \frac{1}{x-4}$ (c) $\frac{3ab}{3a(2a+1)} = \frac{b}{2a+1}$
 - (d) $\frac{14d}{7d(3-e)} = \frac{2}{3-e}$ (e) $\frac{x+2}{(x+2)(x-2)} = \frac{1}{x-2}$ (using the difference of two squares for the denominator)
- 5. $\frac{x-1}{2x-2} = \frac{x-1}{2(x-1)} = \frac{1}{2}$; other two have no common factors on top and bottom.
- 6. (a) $\frac{3}{7}$ (b) $-\frac{1}{3}$ (c) $\frac{3}{6} + \frac{2}{6} = \frac{5}{6}$ (d) $\frac{15}{20} - \frac{8}{20} = \frac{7}{20}$ (e) $\frac{3}{18} + \frac{4}{18} = \frac{7}{18}$ (f) $\frac{1}{6} + \frac{4}{6} = \frac{5}{6}$ (g) $\frac{5}{26} \times \frac{3^{1}}{4} = \frac{5}{8}$ (h) $\frac{^{2}4}{_{5}15} \times \frac{3^{1}}{2_{1}} = \frac{2}{5}$ (i) $\frac{7}{_{4}8} \times \frac{2^{1}}{_{3}} = \frac{7}{12}$ (j) $\frac{^{1}2}{_{15}75} \times \frac{5^{1}}{4_{2}} = \frac{1}{30}$ (k) $\frac{2}{9} \times \frac{1}{3} = \frac{2}{27}$ (l) $\frac{3}{1} \times \frac{7}{2} = \frac{21}{2} = 10\frac{1}{2}$ 7. $47\frac{1}{2} \div 1\frac{1}{4} = \frac{95}{2} \div \frac{5}{4} = \frac{95^{19}}{2_{1}} \times \frac{4^{2}}{5_{1}} = 38$ 8. (a) $\frac{2}{_{3x}} + \frac{1}{_{3x}} = \frac{3}{_{3x}} = \frac{1}{x}$ (b) $\frac{2}{_{1x}} \times \frac{x^{1}}{_{5}} = \frac{2}{_{5}}$ (c) $\frac{3}{_{x}} - \frac{2}{_{x^{2}}} = \frac{3x}{x^{2}} - \frac{2}{x^{2}} = \frac{3x-2}{x^{2}}$

9 © Pearson Education Limited 2015 Jacques, Mathematics for Economics and Business, 8th edition, Instructor's Manual

(d)
$$\frac{7}{x} + \frac{2}{y} = \frac{7y}{xy} + \frac{2x}{xy} = \frac{7y+2x}{xy}$$

(e) $\frac{a}{2} \div \frac{a}{6} = \frac{1}{12} \times \frac{6^3}{4_1} = 3$
(f) $\frac{5c}{12} + \frac{5d}{18} = \frac{15c}{36} + \frac{10d}{36} = \frac{15c+10d}{36}$
(g) $\frac{x+2}{y-5} \times \frac{y-5^1}{x+3} = \frac{x+2}{x+3}$
(h) $\frac{4gh}{7} \div \frac{2g}{9h} = \frac{^24gh}{7} \times \frac{9h}{2_1g} = \frac{18h^2}{7}$
(i) $\frac{t}{4} \div 5 = \frac{t}{4} \times \frac{1}{5} = \frac{t}{20}$
(j) $\frac{^1P}{_1Q} \times \frac{Q^1}{P_1} = 1$
(a) $x+2=7$

x = 5 (subtract 2 from both sides) (b) 3x = 18x = 6 (divide both sides by 3)

9.

- (c) $\frac{x}{9} = 2$ x = 18 (multiply both sides by 9)
- (d) x-4 = -2x = 2 (add 4 to both sides)
- (e) 2x-3=17 2x = 20 (add 3 to both sides) x = 10 (divide both sides by 2)

(f)
$$3x + 4 = 1$$

 $3x = -3$ (subtract 4 from both sides)
 $x = -1$ (divide both sides by 3)

- (g) $\frac{x}{6} 7 = 3$ $\frac{x}{6} = 10$ (add 7 to both sides) x = 60 (multiply both sides by 6) (h) 3(x-1) = 2 3x - 3 = 2 (multiply out brackets)
 - 3x = 5 (add 3 to both sides)
 - $x = \frac{5}{3} = 1\frac{2}{3}$ (divide both sides by 3)

- (i) 4-x=9 -x=5 (subtract 4 from both sides) x=-5 (divide both sides by -1)
- (j) 6x+2=5x-1 x+2=-1 (subtract 5x from both sides) x=-3 (subtract 2 from both sides)
- (k) 5(3x+8) = 10 15x+40 = 10 (multiply out brackets) 15x = -30 (subtract 40 from both sides) x = -2 (divide both sides by 15)
- (1) 2(x-3) = 5(x+1)2x-6 = 5x+5
 - -3x-6=5 (subtract 5x from both sides) -3x=11 (add 6 to both sides) $x = \frac{-11}{3} = -3\frac{2}{3}$ (divide both sides by -3)
- (m) $\frac{4x-7}{3} = 2$ 4x-7=6 (multiply both sides by 3) 4x = 13 (add 7 to both sides) $x = \frac{13}{4} = 3\frac{1}{4}$ (divide both sides by 4)
- (n) $\frac{4}{x+1} = 1$ 4 = x+13 = x

(multiply both sides by $x + 1$)
(subtract 1 from both sides)	

(multiply out brackets)

(o) $5 - \frac{1}{x} = 1$ $5 = 1 + \frac{1}{x}$ (add $\frac{1}{x}$ to both sides) $4 = \frac{1}{x}$ (subtract 1 from both sides) 4x = 1 (multiply both sides by x) $x = \frac{1}{4}$ (divide both sides by 4)

10. (a), (d), (e), (f).	
11. (a) $2x > x + 1$	
x > 1	(subtract <i>x</i> from both sides)
(b) $7x + 3 \le 9 + 5x$	
$2x + 3 \le 9$	(subtract 5 <i>x</i> from both sides)
$2x \le 6$	(subtract 3 from both sides)
$x \leq 3$	(divide both sides by 2)
(c) $x-5 > 4x+4$	
-3x - 5 > 4	(subtract $4x$ from both sides)
-3x > 9	(add 5 to both sides)
<i>x</i> < -3	(divide both sides by -3)
(d) $x-1 < 2x-3$	
-x - 1 < -3	(subtract $2x$ form both sides)
-x < -2	(add 1 to both sides)
x > 2	(divide both sides by -1)
12. $\frac{4}{r^2 v} \div \frac{2x}{v} = \frac{{}^24}{r^2 v} \times \frac{y}{2r} = \frac{2}{r^3}$	

$$x y y x y z_{1}x x$$
13. (a) $6(2+x) = 5(1-4x)$
 $12+6x = 5-20x$ (multiply out brackets)
 $12+26x = 5$ (add 20x to both sides)
 $26x = -7$ (subtract 12 from both sides)
 $x = -\frac{7}{26}$ (divide both sides by 26)

(b) $3x + 6 \ge 5x - 14$	
$-2x + 6 \ge -14$	(subtract $5x$ from both sides)
$-2x \ge -20$	(subtract 6 from both sides)
$x \leq 10$	(divide both sides by -2)

Section 1.3 Graphs of linear equations

Practice Problems

1. From Figure S1.1 note that all five points lie on a straight line.





2.

Point	Check	
(–1,2)	2(-1) + 3(2) = -2 + 6 = 4	1
(-4,4)	2(-4) + 3(4) = -8 + 12 = 4	1
(5,–2)	2(5) + 3(-2) = 10 - 6 = 4	1
(2,0)	2(2) + 3(0) = 4 + 0 = 4	1

The graph is sketched in Figure S1.2.

The graph shows that (3, -1) does not lie on the line. This can be verified algebraically:



Figure S1.2

3x-2y=4 3(2)-2y=4 (substitute x = 2) 6-2y=4 -2y=-2 (subtract 6 from both sides) y=1 (divide both sides by -2)

Hence (2,1) lies on the line.

3.

$$3x-2y = 4$$

$$3(-2)-2y = 4$$

$$-6-2y = 4$$
 (substitute x = -2)

$$-2y = 10$$
 (add 6 to both sides)

$$y = -5$$
 (divide both sides by -2)

Hence (-2, -5) lies on the line.

The line is sketched in Figure S1.3.



Figure S1.3

4. x - 2y = 2

0-2y=2 (substitute x = 0) -2y=2y = -1 (divide both sides by -2)

Hence (0, -1) lies on the line.

x - 2y = 2 $x - 2(0) = 2 \quad (\text{substitute } y = 0)$ x - 0 = 2x = 2

Hence (2,0) lies on the line.

Jacques, Mathematics for Economics and Business, 8th edition, Instructor's Manual

The graph is sketched in Figure S1.4.



Figure S1.4

5. From Figure S1.5 the point of intersection is (1, -1/2).





6. (a) a = 1, b = 2. The graph is sketched in Figure S1.7.



Figure S1.7